Thai Journal of Mathematics Volume 10 (2012) Number 1: 113–122



www.math.science.cmu.ac.th/thaijournal Online ISSN 1686-0209

A Note on Heat Type Polynomials Suggested by Jacobi Polynomials

Mumtaz Ahmad Khan, Abdul Hakim Khan and Manoj Singh 1

Department of Applied Mathematics, Faculty of Engineering Aligarh Muslim University, Aligarh - 202002, U.P., India e-mail: mumtaz_ahmad_khan_2008@yahoo.com (M.A. Khan) manojsingh1181@gmail.com (M. Singh)

Abstract : In the present paper an attempt has been made to investigate a new class of heat type polynomials suggested by Jacobi polynomials. Results analogous to Jacobi polynomials obtained by Srivastava [H.M. Srivastava, Note on certain generating functions for Jacobi and Laguerre polynomials, Publ. Inst. Math. (Beograd) (N.S.) 17 (31) (1974) 149–154] and Varma [V.K. Varma, Appell's double hypergeometric function as a generating function of the Jacobi polynomials, Riv. Mat. Univ. Parma 8 (1967) 305–308] have also been obtained for this new class of heat type polynomials.

Keywords : Heat polynomials; Jacobi polynomials; Appell's functios; Kamp \acute{e} de F \acute{e} riet's function; Generating function.

2010 Mathematics Subject Classification: 42C05; 33C45.

1 Introduction

A heat polynomials $v_n(x,t)$ of degree n is defined as a coefficient of $\frac{z^n}{n!}$ in the power series expansion e^{zx+x^2t} :

$$e^{zx+x^2t} = \sum_{n=0}^{\infty} v_n(x,t) \frac{z^n}{n!}$$
 (1.1)

Copyright \odot 2012 by the Mathematical Association of Thailand. All rights reserved.

 $^{^{1}}$ Corresponding author email:manojsingh1181@gmail.com

It is clearly a solution of one dimensional heat equation

$$\frac{\partial^2 u}{\partial x^2} = \frac{\partial u}{\partial t} \tag{1.2}$$

for all values of the variables.

The generalized heat polynomials $P_{n,\nu}(x,u)$ defined by (Haimo [1], p.736, eq. (2.1), Bragg [2], p.272, eq. (2.3)) is as follows:

$$P_{n,\nu}(x,u) = \sum_{k=0}^{n} 2^{2k} \binom{n}{k} \frac{\Gamma(\nu+n+\frac{1}{2})}{\Gamma(\nu+n-k+\frac{1}{2})} x^{2n-2k} u^{k}$$
 (1.3)

$$= (4u)^n \ n! \ L_n^{(\nu - \frac{1}{2})} \left(-\frac{x^2}{4u} \right) \tag{1.4}$$

where $L_n^{(\alpha)}(x)$ denotes the Laguerre polynomials defined by (see, Rainville [3, pp. 200]), as given below:

$$L_n^{(\alpha)}(x) = \frac{(1+\alpha)_n}{n!} \, {}_1F_1[-n; 1+\alpha; x]. \tag{1.5}$$

The heat type polynomials suggested by Jacobi polynomials are denoted by, $P_{n,\lambda,\mu}(x,u)$ and defined as

$$P_{n,\lambda,\mu}(x,u) = (4u)^n \left(\lambda + \frac{1}{2}\right)_n {}_{2}F_{1} \begin{bmatrix} -n, \lambda + \mu + n; \\ \lambda + \frac{1}{2}; \end{bmatrix}$$
(1.6)

$$= (4u)^n \ n! \ P_n^{(\lambda - \frac{1}{2}, \mu - \frac{1}{2})} \left(-\frac{x^2}{4u} \right) \tag{1.7}$$

where $P_n^{(\alpha,\beta)}(x)$ denotes the Jacobi polynomials defined by ([3, pp. 254]), as given below:

$$P_n^{(\alpha,\beta)}(x) = \frac{(1+\alpha)_n}{n!} {}_2F_1 \left[\begin{array}{c} -n, 1+\alpha+\beta+n; \\ 1+\alpha; \end{array} \right]$$
(1.8)

In the form similar to Jacobi polynomials due to Srivastava [4], (1.6) can be written as

$$P_{n,\lambda,\mu}(x,u) = \sum_{k=0}^{n} \binom{\lambda + n - \frac{1}{2}}{n-k} \binom{\mu + n - \frac{1}{2}}{k} n! \ x^{2k} (x^2 + 4u)^{n-k}.$$
 (1.9)

In view of the relation ([3, Theorem 20, pp. 60]),

$$F\begin{bmatrix} a,b;\\c; z \end{bmatrix} = (1-z)^{-a} F\begin{bmatrix} a,c-b;\\c; \frac{-z}{1-z} \end{bmatrix}$$
 (1.10)

a relation (1.6), can be written in the elegant form

$$P_{n,\lambda,\mu}(x,u) = \left(\lambda + \frac{1}{2}\right)_n (x^2 + 4u)^n {}_2F_1 \left[\begin{array}{c} -n, \frac{1}{2} - \mu - n; \\ \lambda + \frac{1}{2} \end{array}; \frac{x^2}{x^2 + 4u} \right]$$
(1.11)

and in the finite series form (1.6) and (1.11) becomes,

$$P_{n,\lambda,\mu}(x,u) = \sum_{k=0}^{n} \binom{n}{k} \frac{\left(\lambda + \frac{1}{2}\right)_n (\lambda + \mu)_{n+k}}{\left(\lambda + \frac{1}{2}\right)_k (\lambda + \mu)_n} (4u)^n \left(\frac{x^2}{4u}\right)^k$$
(1.12)

$$P_{n,\lambda,\mu}(x,u) = \sum_{k=0}^{n} \binom{n}{k} \frac{\left(\lambda + \frac{1}{2}\right)_n \left(\mu + \frac{1}{2}\right)_n}{\left(\lambda + \frac{1}{2}\right)_k \left(\mu + \frac{1}{2}\right)_{n-k}} x^{2k} (x^2 + 4u)^{n-k}$$
(1.13)

Also by reversing the order of summation, (1.6) and (1.11) can be written as

$$P_{n,\lambda,\mu}(x,u) = \frac{(\lambda+\mu)_{2n}}{(\lambda+\mu)_n} x^{2n} {}_{2}F_{1} \begin{bmatrix} -n, \frac{1}{2} - \lambda - n; \\ 1 - \lambda - \mu - 2n; \end{bmatrix} - \frac{4u}{x^2}$$
(1.14)

$$P_{n,\lambda,\mu}(x,u) = \left(\mu + \frac{1}{2}\right)_n x^{2n} {}_2F_1 \left[\begin{array}{cc} -n, & \frac{1}{2} - \lambda - n; \\ \mu + \frac{1}{2}; & x^2 + 4u \end{array} \right]$$
(1.15)

In 1989, Fitouchi [5] generalized the theory of heat polynomials introduced by Rosenbloom and Widder for a more general class of singular differential operator $0, \infty$. The heat polynomials associated with the Bessel operator and studied by Haimo appear as a particular case in this paper.

In 2001, Hile and Stanoyevitch [6], demonstrated polynomials solutions analogous to the heat polynomials for higher order linear homogenous evolution equations with coefficient depending on the time variable. Further parallels with the heat polynomials were established when the equation is parabolic with constant coefficients and only highest order terms.

Recently, in 2004, Hile and Stanoyevitch [7], generalized the heat polynomials for the heat equation to more general partial differential equations, of higher order with respect to both time variable and space variables. Whereas the heat equation requires only one family of polynomials, for an equation of lth order with respect to time they introduce l families of polynomials. These families correspond to the l initial conditions specified by the Cauchy problem.

Some of the definition and notations used in this paper are as follows (see [8]). The Binomial coefficient is expressed as

$$\begin{pmatrix} \lambda \\ n \end{pmatrix} = \frac{\lambda(\lambda - 1)\cdots(\lambda - n + 1)}{n!} = \frac{(-1)^n(-\lambda)_n}{n!},\tag{1.16}$$

$$(1-z)^{-a} = \sum_{n=0}^{\infty} \frac{(a)_n z^n}{n!}.$$
(1.17)

Appell's four functions of two variables are given by (see [9]).

$$F_1[a, b, b'; c; x, y] = \sum_{n,k=0}^{\infty} \frac{(a)_{n+k}(b)_n(b')_k}{n! \ k! \ (c)_{n+k}} x^n y^k$$
(1.18)

$$F_2[a, b, b'; c, c'; x, y] = \sum_{n,k=0}^{\infty} \frac{(a)_{n+k}(b)_n(b')_k}{n! \ k! \ (c)_n(c')_k} x^n y^k$$
(1.19)

$$F_3[a, a', b, b'; c; x, y] = \sum_{n k=0}^{\infty} \frac{(a)_n (a')_k (b)_n (b')_k}{n! \ k! \ (c)_{n+k}} x^n y^k$$
(1.20)

$$F_4[a,b;c,c';x,y] = \sum_{n,k=0}^{\infty} \frac{(a)_{n+k}(b)_{n+k}}{n! \ k! \ (c)_n(c')_k} x^n y^k. \tag{1.21}$$

Further, Kampé de Fériet's type general double hypergeometric series (cf. Srivastava and Karlsson [10]) is defined as

$$F_{l:m;n}^{p:q;k} \begin{bmatrix} (a_p) : (b_q); (c_k); \\ (\alpha_l) : (\beta_m); (\gamma_n) \end{bmatrix} x, y = \sum_{r,s=0}^{\infty} \frac{\prod_{j=1}^{p} (a_j)_{r+s} \prod_{j=1}^{q} (b_j)_r \prod_{j=1}^{k} (c_j)_s}{\prod_{j=1}^{l} (\alpha_j)_{r+s} \prod_{j=1}^{m} (\beta_j)_r \prod_{j=1}^{n} (\gamma_j)_s}.$$
(1.22)

2 Generating Functions

The polynomial $P_{n,\lambda,\mu}(x,u)$ admit the following generating relation.

$$\sum_{n=0}^{\infty} \frac{(\lambda+\mu)_n P_{n,\lambda,\mu}(x,u)}{\left(\lambda+\frac{1}{2}\right)_n n!} t^n = (1-4ut)^{-\lambda-\mu} {}_2F_1 \begin{bmatrix} \frac{\lambda+\mu}{2}, \frac{\lambda+\mu+1}{2}; \\ \lambda+\frac{1}{2}; \end{bmatrix} \cdot \frac{4x^2t}{(1-4ut)^2}.$$
(2.1)

Another generating function exist by using (1.11), which is similar of Bateman's generating function of Jacobi polynomials (see, Rainville [3, pp. 256]) and is as given below:

$$\sum_{n=0}^{\infty} \frac{P_{n,\lambda,\mu}(x,u)}{\left(\lambda + \frac{1}{2}\right)_n \left(\mu + \frac{1}{2}\right)_n n!} t^n = {}_{0}F_{1} \left[\begin{array}{c} - \\ \\ \lambda + \frac{1}{2} \end{array}; x^2 t \right] {}_{0}F_{1} \left[\begin{array}{c} - \\ \\ \mu + \frac{1}{2} \end{array}; (x^2 + 4u)t \right]. \tag{2.2}$$

Also,

$$\sum_{n=0}^{\infty} \frac{(\gamma)_n P_{n,\lambda,\mu}(x,u)}{(\lambda + \frac{1}{2})_n (\mu + \frac{1}{2})_n n!} t^n = \psi_2 \left[\gamma; \lambda + \frac{1}{2}, \mu + \frac{1}{2}; x^2 t, (x^2 + 4u)t \right]$$
(2.3)

where ψ_2 is a (Humbert's) confluent hypergeometric function of two variables defined by [9].

$$\psi_2\left[\alpha;\gamma,\gamma';x,y\right] = \sum_{m,n=0}^{\infty} \frac{(\alpha)_{m+n}}{(\gamma)_n(\gamma')_n} \frac{x^m}{m!} \frac{y^n}{n!}.$$
 (2.4)

With the aid of (1.12), we find that

$$\sum_{n=0}^{\infty} \frac{(\gamma)_n(\delta)_n P_{n,\lambda,\mu}(x,u)}{(\lambda + \frac{1}{2})_n (\mu + \frac{1}{2})_n n!} t^n = F_4 \left[\gamma, \delta, ; \lambda + \frac{1}{2}, \mu + \frac{1}{2}; x^2 t, (x^2 + 4u)t \right]$$
(2.5)

where F_4 denotes the fourth type of Appell's hypergeometric function defined by eq. (1.21).

By using, $\delta = \lambda + \mu - \gamma$ in (2.5) and in the conjunction with the theorem (Bailey's [11, pp. 81]; Rainville [3, pp. 269])

$$F_{4}\left[a,b;c,1-c+a+b;-\frac{u}{(1-u)(1-v)},-\frac{v}{(1-u)(1-v)}\right]$$

$$= {}_{2}F_{1}\left[\begin{array}{ccc}a,b;\\c;\end{array}-\frac{u}{1-u}\right]{}_{2}F_{1}\left[\begin{array}{ccc}a,&b&;\\1-c+a+b;\end{array}-\frac{v}{1-v}\right]$$
(2.6)

a new generating relation is obtained as follows:

$$\sum_{n=0}^{\infty} \frac{(\gamma)_n (\lambda + \mu - \gamma)_n P_{n,\lambda,\mu}(x,u)}{\left(\lambda + \frac{1}{2}\right)_n \left(\mu + \frac{1}{2}\right)_n n!} t^n$$

$$= {}_{2}F_{1} \left[\begin{array}{c} \gamma, \lambda + \mu - \gamma; \\ \lambda + \frac{1}{2} \end{array}; \frac{1}{2} (1 - 4ut - \rho) \right] {}_{2}F_{1} \left[\begin{array}{c} \gamma, \lambda + \mu - \gamma; \\ \mu + \frac{1}{2} \end{array}; \frac{1}{2} (1 + 4ut - \rho) \right].$$
(2.7)

Put, $\gamma = \lambda + \frac{1}{2}$ and $\delta = \mu + \frac{1}{2}$ in (2.5) and appeal to the theorem (Rainville [3, pp. 268]).

$$F_4\left[a,b;b,a;-\frac{u}{(1-u)(1-v)},-\frac{v}{(1-u)(1-v)}\right] = (1-uv)^{-1}(1-u)^a(1-v)^b.$$
(2.8)

We thus obtain the generating relation,

$$\sum_{n=0}^{\infty} \frac{P_{n,\lambda,\mu}(x,u)}{n!} t^n = 2^{\lambda+\mu-1} \rho^{-1} (1 + 4ut + \rho)^{-(\lambda-\frac{1}{2})} (1 - 4ut + \rho)^{-(\mu-\frac{1}{2})}$$
 (2.9)

where, in (2.7) and (2.9), $\rho = [(1 - 4ut)^2 - 4x^2t]^{\frac{1}{2}}$.

If we rewrite (1.11) as

$$P_{n,\lambda,\mu-n}(x,u) = \frac{\Gamma(\lambda+n+\frac{1}{2})}{\Gamma(\lambda+\frac{1}{2})} (x^2+4u)^n {}_2F_1 \left[\begin{array}{c} -n, -(\mu-\frac{1}{2}); \\ \lambda+\frac{1}{2} \end{array}; \frac{x^2}{x^2+4u} \right]$$
(2.10)

and the Gaussian hypergeometric transformation (see [9, pp. 3])

$$_{2}F_{1}[a,b;c;z] = (1-z)^{c-a-b} {}_{2}F_{1}[c-a,c-b;c;z], \quad |z| < 1.$$
 (2.11)

We thus arrive to an elegant form of generating relation from (2.10) and (2.11) as

$$\sum_{n=0}^{\infty} \frac{(\alpha)_n(\rho)_n P_{n,\lambda,\mu-n}(x,u)}{(\beta)_n \left(\lambda + \frac{1}{2}\right)_n n!} t^n$$

$$= (1 - 4ut)^{-\alpha} F_{1:-;1}^{1:1;2} \begin{bmatrix} \alpha : \beta - \rho; \rho, \lambda + \mu; & 4ut \\ \beta : - ; & \lambda + \frac{1}{2} ; & 4ut - 1 \end{bmatrix}$$
(2.12)

and

$$\sum_{n=0}^{\infty} \frac{(c-b)_n P_{n,\lambda,\mu-n}(x,u)}{(c)_n \ n!} t^n$$

$$= \left(\frac{x^2 + 4u}{4u}\right)^{-\lambda-\mu} F_2\left[\lambda + \frac{1}{2}, \lambda + \mu, c - b; \lambda + \frac{1}{2}, c; \frac{x^2}{x^2 + 4u}, 4ut\right]. \tag{2.13}$$

In view of the hypergeometric transformation ([9, pp. 30]),

$$F_2[\alpha,\beta,\beta';\alpha,\gamma;x,y]$$

$$= (1-x)^{-\beta} F_1 \left[\beta', \beta, \alpha - \beta ; \gamma ; \frac{y}{1-x}, y \right]$$

$$= (1-x)^{-\beta} (1-y)^{-\beta'} F_1 \left[\beta', \gamma - \alpha, \beta ; \gamma ; \frac{y}{y-1}, \frac{xy}{(1-x)(1-y)} \right]. \tag{2.14}$$

The generating relation (2.13) is equivalent to the form

$$\sum_{n=0}^{\infty} \frac{(c-b)_n P_{n,\lambda,\mu-n}(x,u)}{(c)_n n!} t^n$$

$$= (1 - 4ut)^{b-c} F_1 \left[c - b, c - \lambda - \frac{1}{2}, \lambda + \mu ; c ; \frac{4ut}{4ut - 1}, -\frac{x^2t}{4ut - 1} \right]$$
 (2.15)

where F_1 is the Appell's function of first kind defined by eq.(1.18).

The polynomial $P_{n+m,\lambda,\mu-n}(x,u)$ can be expressed, by applying (2.11) to the second member of (2.10) as

$$P_{n+m,\lambda,\mu-n}(x,u) = \frac{\Gamma(\lambda+n+m+\frac{1}{2})}{\Gamma(\lambda+\frac{1}{2})} (4u)^{n+m} \left(\frac{x^2+4u}{4u}\right)^{-\lambda-\mu-m} \times {}_{2}F_{1} \left[\begin{array}{c} \lambda+n+m+\frac{1}{2}, \lambda+\mu+m; \\ \lambda+\frac{1}{2} & ; \end{array} \right] \frac{x^2}{x^2+4u}$$
(2.16)

for every integer $m \geq 0$.

Next we rewrite (1.19) in the form

$$F_{2}[a,b,b';c,c';x,y] = \sum_{n=0}^{\infty} \frac{(a)_{n}(b)_{n}}{n!(c)_{n}} {}_{2}F_{1}[a+n,b';c';y]x^{n}$$
(2.17)

which in conjunction with (2.16) would leads at once to a generalization of (2.13) given by

$$\sum_{n=0}^{\infty} \frac{(\alpha)_n P_{n+m,\lambda,\mu-n}(x,u)}{(\beta)_n n!} t^n$$

$$= \frac{\Gamma(\lambda + m + \frac{1}{2})}{\Gamma(\lambda + \frac{1}{2})} (4u)^m \left(\frac{x^2 + 4u}{4u}\right)^{-\lambda - \mu - m}$$

$$\times F_2 \left[\lambda + m + \frac{1}{2}, \lambda + \mu + m, \alpha; \lambda + \frac{1}{2}, \beta; \frac{x^2}{x^2 + 4u}, 4ut\right]. \tag{2.18}$$

Evidently (2.13) would follow from (2.18) in the special case m = 0.

By using the hypergeometric transformation (Erdélyi et al. [12, vol. I, pp. 240, eq. (6)]).

$$F_2[a, b, b'; c, c'; x, y] = (1 - x)^{-a} F_2\left[a, c - b, b'; c, c'; \frac{x}{x - 1}, \frac{y}{1 - x}\right]$$
(2.19)

the generating relation (2.18) is equivalent to the form

$$\sum_{n=0}^{\infty} \frac{(\alpha)_n P_{n+m,\lambda,\mu-n}(x,u)}{(\beta)_n \ n!} t^n$$

$$= \frac{\Gamma(\lambda+m+\frac{1}{2})}{\Gamma(\lambda+\frac{1}{2})} (4u)^m \left(\frac{x^2+4u}{4u}\right)^{-(\mu-\frac{1}{2})}$$

$$\times F_2 \left[\lambda+m+\frac{1}{2}, -\left(\mu+m-\frac{1}{2}\right), \alpha ; \lambda+\frac{1}{2}, \beta ; -\frac{x^2}{4u}, (x^2+4u)t\right]. (2.20)$$

The polynomial $P_{n,\lambda-n,\mu-n}(x,u)$ given by the form

$$P_{n,\lambda-n,\mu-n}(x,u)$$

$$= \frac{\Gamma(\lambda + \frac{1}{2})}{\Gamma(\lambda - n + \frac{1}{2})} (x^2 + 4u)^n {}_2F_1 \left[\begin{array}{c} -n, -(\mu - \frac{1}{2}); \\ \lambda - n + \frac{1}{2}; \end{array} \right] \frac{x^2}{x^2 + 4u}$$
 (2.21)

admits the following generating relations

$$\sum_{n=0}^{\infty} \frac{P_{n,\lambda-n,\mu-n}(x,u)}{n!} t^n = \left[1 + (x^2 + 4u)t\right]^{-(\lambda - \frac{1}{2})} \left[1 + x^2 t\right]^{-(\mu - \frac{1}{2})}, \qquad (2.22)$$

$$\sum_{n=0}^{\infty} \frac{(\alpha)_n P_{n,\lambda-n,\mu-n}(x,u)}{(\beta)_n \ n!} t^n$$

$$= F_1 \left[\alpha, -\left(\lambda - \frac{1}{2}\right), -\left(\mu - \frac{1}{2}\right); \ \beta; -(x^2 + 4u)t, -x^2 t \right]. \tag{2.23}$$

For $\alpha = \beta$, the generating relation (2.23) reduces immediately to (2.22).

Another interesting special case of (2.23) would occurs, when we set $\beta = -\lambda - \mu + 1$ and appeal to the hypergeometric reduction formula (see, Erdélyi et al. [12, vol. I, pp. 238, eq. (1)])

$$F_1[a, b, b'; b + b'; x, y] = (1 - y)^{-a} {}_{2}F_1 \begin{bmatrix} a, b; \\ b + b'; \\ 1 - y \end{bmatrix}.$$
 (2.24)

We thus obtain the generating function

$$\sum_{n=0}^{\infty} \frac{(\alpha)_n P_{n,\lambda-n,\mu-n}(x,u)}{(-\lambda-\mu+1)_n \ n!} t^n = (1+x^2t)^{-\alpha} {}_2F_1 \left[\begin{array}{c} \alpha, -(\lambda-\frac{1}{2}) \ ; \\ -\lambda-\mu+1 \ ; \end{array} \right. \frac{-4ut}{1+x^2t} \right] \quad (2.25)$$

or equivalently,

$$\sum_{n=0}^{\infty} \frac{(\alpha)_n P_{n,\lambda-n,\mu-n}(x,u)}{(-\lambda-\mu+1)_n \ n!} t^n$$

$$= (1 + (x^{2} + 4u)t)^{-\alpha} {}_{2}F_{1} \left[\begin{array}{c} \alpha, -(\mu - \frac{1}{2}) ; \\ -\lambda - \mu + 1 ; \end{array} \right. \frac{4ut}{1 + (x^{2} + 4u)t}$$
 (2.26)

where we have used Euler transformation defined by (1.10).

In view of the confluence principle exhibited by (see, Srivastava and Manocha [8]),

$$\phi_2[\beta, \beta'; \gamma; x, y] = \lim_{|\alpha| \to \infty} F_1\left[\alpha, \beta, \beta'; \gamma; \frac{x}{\alpha}, \frac{y}{\alpha}\right]$$
 (2.27)

and

$$_{1}F_{1}[a;c;z] = \lim_{|b| \to \infty} {}_{2}F_{1}\left[a,b;c;\frac{z}{b}\right].$$
 (2.28)

Some confluent form of generating function (2.23), (2.25) and (2.26) can be represented in the elegant form by replacing t in each of these results by $\frac{t}{\alpha}$ and letting $|\alpha| \longrightarrow \infty$.

$$\sum_{n=0}^{\infty} \frac{P_{n,\lambda-n,\mu-n}(x,u)}{(\beta)_n \ n!} t^n$$

$$= \phi_2 \left[-\left(\lambda - \frac{1}{2}\right), -\left(\mu - \frac{1}{2}\right); \alpha; -(x^2 + 4u)t, -x^2t \right]$$
(2.29)

$$\sum_{n=0}^{\infty} \frac{P_{n,\lambda-n,\mu-n}(x,u)}{(-\lambda-\mu+1)_n \ n!} t^n = \exp(-x^2 t)_1 F_1 \left[\begin{array}{c} -\left(\lambda - \frac{1}{2}\right) \ ; \\ -\lambda - \mu + 1 \ ; \end{array} \right] - 4ut \right]. \tag{2.30}$$

Similarly,

$$\sum_{n=0}^{\infty} \frac{P_{n,\lambda-n,\mu-n}(x,u)}{(-\lambda-\mu+1)_n \ n!} t^n = \exp(-(x^2+4ut))_1 F_1 \left[\begin{array}{c} -\left(\mu-\frac{1}{2}\right) \ ; \\ -\lambda-\mu+1 \ ; \end{array} \right]$$
(2.31)

where ϕ_2 is a confluent hypergeometric function of two variables (see, Srivastava and Manocha [8, pp. 58]).

Yet, another generating function is obtained by using (2.21) which in conjunction with (2.11) would readily give us

$$\sum_{n=0}^{\infty} \frac{(\alpha)_n(\rho)_n P_{n,\lambda-n,\mu-n}(x,u)}{(\beta)_n(-\lambda-\mu+1)_n \ n!} t^n$$

$$= (1+x^{2}t)^{-\alpha}F_{1:-;2}^{1:1;2} \begin{bmatrix} \alpha:\beta-\rho; \ \rho, \ -\lambda+\frac{1}{2}; \\ \beta: \ -\ ; \ -\lambda-\mu+1; \end{bmatrix} - \frac{4ut}{1+x^{2}t}, \frac{x^{2}t}{1+x^{2}t} \end{bmatrix}. \quad (2.32)$$

Acknowledgement: The author expresses his sincere appreciation to referee for the careful reading of the manuscript, suggestions and comments which improved the presentation and quality of the paper.

References

- [1] D.T. Haimo, Expansion in terms of generalized heat polynomials and their Appell transform, J. Math. Mech. 15 (1966) 735–758.
- [2] L.R. Bragg, The radial heat polynomials and related functions., Trans. Amer.Math. Soc. 119 (1968) 270–290.
- [3] E.D. Rainville, Special Functions, MacMillan, New York (1960), Reprinted by Chelsea Publishing Company, Bronx, New York (1971).
- [4] H.M. Srivastava, Note on certain generating functions for Jacobi and Laguerre polynomials, Publ. Inst. Math. (Beograd) (N.S.) 17 (31) (1974) 149–154.
- [5] A. Fitouhi, Heat "Polynomials" for a singular differential operator on $0, \infty$, Constr. Approx. 5 (1989) 241–270.
- [6] G.N. Hile, A. Stanoyevitch, Heat polynomial analogues for higher order evolution equations, Electronic Journal of differential equations 28 (2001) 1–19.
- [7] G.N. Hile, A. Stanoyevitch, Heat polynomial analogues for equations with higher order time derivatives, J. Math. Anal. Apl. 295 (2004) 595–610.

- [8] H.M. Srivastava, H.L. Manocha, A Treatise on generating functions, Halsted Press (Ellis Horwood Limited, Chichester), John Wiley and sons, New York, Chichester Brisbane, Toronto, (1984).
- [9] P. Appell, J. Kampé de Fériet, Fonctions hypérgeométriques et hyperspheriques, Polynômes d'Hermite Gauthier-villars, Paris, (1926).
- [10] H.M. Srivastava, P.W. Karlsson, Multiple Gaussian hypergeometric series, Halsted press (Ellis Horwood Limited, Chichester), John wiley and sons, New York, Chichester, (1985).
- [11] W.N. Bailey, Generalized hypergeometric series., Cambridge Math., Tract No.32, Cambridge Univ. Press, Cambridge, Reprinted by Stechert-Hafner, New York, (1964).
- [12] A. Erdelyi, W. Magnus, F. Oberhettinger, F.G. Tricomi, Higher Transcendental Functions, I. McGraw-Hill, New York Toronto and London, (1953).

(Received 10 February 2010) (Accepted 4 October 2011)

THAI J.~MATH. Online @ http://www.math.science.cmu.ac.th/thaijournal